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Now we will learn another style of verb which has weak letter in the middle: 3V

> 2L key: 315, The plural is 133%. After that, we have 543); instead of &35, The weak letter is relaxing so
you also relax and say it an easy way: 543;. The rest of the forms follows this pattern.

> gyl key: & 2. Alif is now replaced by yaa, means you may say £ 7 instead of 515. You can make the
rest of ¢ .t forms easily!

> ,ﬁ key: 33 You can make this from ¢4 form, 4.»,.: Drop the first letter () and make the last one
Sakin to get .u, Weak letters are too weak to take orders! It therefore becomes 3;.

(The boxes show the 3 verb keys and the 3 noun keys) He increased :3j 51
oo St o | St , . . .
Name of action J g gusi  Jub ki gusi Q"“Jﬂ vako Jud
Increase! 3 He increases/ A3 | Heincreased 313
' ) Will increase = )
Increase! T They increase/ 4i45w | They increased 1231
(you all) =) Will increase s y
. . You increase/ P . 5 .
Don’t increase! 5 L 2.5 | You increased LY
S Will increase 2 =)
Don’t Increase PRORRY | increase/ i | nincreased :,
(you all) )=y Will increase =) )
Increaser L You(all) increase/ 534535 | You (all) increased 33
70 Will increase Shes =)
. We increase/ P . ‘-
What is increased ) b S 3w | We increased \
e Will increase 2 L3)
. > She increases/ 2, . i s L
To increase 33U, J2 | She increased <A1
%) Will increase = 2
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After the class try to have dialogues among yourselves using:
ALh B3y b 1 455 o (Pl Job e
Ule Lt G s 3 ol Jab o

Just like 3%, you can make the complete table for 38" (he plotted). You can find other verbs too on this style.
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